Ubungsblatt zur Kettenregel
f(x) := u(v(x))
£2(x) :=w (v(x)) * V’(x)
»AuBere Ableitung mal innere Ableitung*

a) T (X) = (X2 + 5x)? b) (x) = sin (x)
c) f(t) = - sin (22 +8) d) f(x) = cos ((2x° - 6)?)
&) f(X)= J2x+8 f)f(a)= V2 +ax
9) f(X) = 3/@e+5y h) £ (X) = Jsin (2x)

Bestimme bis zur dritten Ableitung: f(x) = (x? — 3x)?

Losungen
f7x)=3-(x2+5x)?2 2x+5) £ (x)= 2;3 £ (t)=-cos (2t2 +8) (4t)
£ = 2a £ (x) =2 [(2x-3) - (2x-3)+ (X2-3x)2 £°(x)=-cos (-X
N (x) =2 [(2x-3) - (2x-3)+ (x2-3x)-2] (x) ()
£ (x)= X’ cos(2x) £(x) =2 (%2 - 3x) - (2x-3) £(x) = - sin ((2x3 - 6)?) - 2 ((2x* - 6) - 6x?)
\/sin(2x?)
£(x)=(x2-3x)? 77 (x) =2 [2 (2x-3) + (2x-3) 2 + 2 (2x-3)] = 24x - 36 f (x)= 16 x
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